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Question 1   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

What is two million, two hundred and three thousand, four hundred and sixteen in numerals?

A) 2 023 416

B) 2 023 460

C) 2 203 416

D) 2 203 460

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,030

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

____÷10=6.7

A) 67

B) 670

C) 0.67

D) 0.067
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,037

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A number when rounded to the neatest thousand is 30 000. Which one of the following the most likely
the number? 

A) 29 099 

B) 29 598

C) 30 597

D) 30 909

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,041

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) 100

B) 25

C) 20

D) 4

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,045

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A)

B)

C)

D)

Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
QID#: 29,014,052

 Answers
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Question 6   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Which of the following is not a factor of 32?

A) 16

B) 9

C) 8

D) 4

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,054

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 7   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A) Cindy 

B) Edna 

C) Ruby 

D) Sally 

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,060

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 8   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) ADG

B) DFC

C) ECG

D) GDC

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,065
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 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 9   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) v = y

B) x = z

C) x + y = v

D) x + w = y

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,073

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 10   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Amei has twice as many stamps as Ben. Cindy has 3 times as many stamps as Ben. They have 42
stamps altogether .How many Stamps does Ben have?

A) 6

B) 7

C) 12

D) 14

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,083

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 11   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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A) January 

B) February 

C) March 

D) April 

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,087

 Answers
 |  Edit  |  Duplicate  |  Used In
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Question 12   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A)

B)

C)

D)
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,095

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 13   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) 24 cm2

B) 30 cm2

C) 48 cm2

D) 60 cm2

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,100

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Jamie had $42 and Sally had $90. After they shared the cost of a present for a friend equally, the
amount of money Sally had left was 3 times the amount of money Jamie had left. How much did each
of them pay for the present?

A) $16

B) $18

C) $24

D) $26

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
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QID#: 29,014,122
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Question 15   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Michael cuts a 3 metre long rope into three pieces. The length of ropes X and Y are in the ratio 5:3.
Rope X is 50cm longer than rope Y. How long is rope Z?

A) 75cm 

B) 100cm 

C) 125cm 

D) 200cm 

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,125

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 16   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

What is the value of 90-7x3+14÷2?

Accepted answers:

76

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,429

Correctly answered feedback
90-7x3+14÷2

= 90 - 7 x 3+7

= 90-21 + 7

= 69+7

=76

Incorrectly answered feedback
90-7x3+14÷2

= 90 - 7 x 3+7

= 90-21 + 7

= 69+7

=76

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 17   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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What is the first common multiple of 6 and 9?

Accepted answers:

18

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,430

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 18   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Find the value of 28 x 4000

Accepted answers:

112000

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,434

Correctly answered feedback
28 x 4x1000

= 112x1000

= 112000

Incorrectly answered feedback
28 x 4x1000

= 112x1000

= 112000

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 19   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

4.32
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,438

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 20   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

$66

$ 66

66

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,440

Correctly answered feedback
12x5+6

= 60+6 = 66

Incorrectly answered feedback
12x5+6

= 60+6 = 66

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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A) police station 

B) food centre 

C) playground 

D) community centre 

E) market 

F) school

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,449

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 22   Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

The town council wants to build a library in the neighbourhood. The location of the library will be south-
west of the police station and west of the playground in the square grid above, put an "X" in the correct
swore to indicate where the library will be built 
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Question Type: Essay
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,465

Correctly answered feedback

Incorrectly answered feedback
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 23   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

There are 850 people at a concert. 30% of them are adults and the rest are children. How many
children are at the concert?

Accepted answers:

595

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,470

Correctly answered feedback
70/100 x 850/1 = 595

Incorrectly answered feedback
70/100 x 850/1 = 595

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 24   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Sally had $13.50. She bought 6 mangoes and had $4.50 left. How much did she pay for each mango 

Accepted answers:

$1.50

$ 1.50

1.50
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,476

Correctly answered feedback
6M = 13.50 - 4.50 =9

1M = 9÷6=1.50

Incorrectly answered feedback
6M = 13.50 - 4.50 =9

1M = 9÷6=1.50

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 25   Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

Question Type: Essay
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,481

Correctly answered feedback
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 Answers
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Question 26   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

$1.65

$ 1.65

1.65

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,489

Correctly answered feedback
Total = (0.10x4) + (0.25x5)

= 0.40 +1.25

=1.65

Incorrectly answered feedback
Total = (0.10x4) + (0.25x5)

= 0.40 +1.25

=1.65

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 27   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

The average mass of Jimmy, Leonard and Matthew is 48 kg. Jimmy is 7kg heavier than Leonard and 5
kg heavier than Matthew. What is Leonard's mass?
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Accepted answers:

45 kg

45kg

45

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,541

Correctly answered feedback
144-7-2=135

135÷5=45

Incorrectly answered feedback
144-7-2=135

135÷5=45

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 28   Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

Question Type: Essay
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,548

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014541
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014541&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083


9/20/21, 10:52 PM ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1815083&trk=edittest_inrow_edit 17/38

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 29   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

12

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: Tue 14th Sep 2021
QID#: 29,014,603

Correctly answered feedback
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https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 30   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Mdm See baked an equal number of chocolates tarts and strawberry tarts. She gave away 18
chocolate tarts and 60 strawberry tarts. After that, she had 3 times as many chocolate tarts as
strawberry tarts. How many stwrvweey tarts had she left?

Accepted answers:

21

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: Tue 14th Sep 2021
QID#: 29,014,629

Correctly answered feedback
2u = 60 -18 =42

1u = 42÷2=21

Incorrectly answered feedback
2u = 60 -18 =42

1u = 42÷2=21

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

280

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014603
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014603&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014629
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014629&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,646

Correctly answered feedback
7 days = 21 u read 

9 days = 10 pages left 

1 day = 21u ÷ 7 = 3u

9 days = 3u x9 = 27u

1u =10

10x28=280

Incorrectly answered feedback
7 days = 21 u read 

9 days = 10 pages left 

1 day = 21u ÷ 7 = 3u

9 days = 3u x9 = 27u

1u =10

10x28=280

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 32   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

10 11/36l

10 11/36 l

10 11/36

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,668

Correctly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014646
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014646&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 33   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

145cm

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014668
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014668&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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145 cm

145

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,680

Correctly answered feedback
1u = 522÷18=29cm

XY = 29cm x 5 = 145cm

Incorrectly answered feedback
1u = 522÷18=29cm

XY = 29cm x 5 = 145cm

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 34   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

112

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,684

Correctly answered feedback
180-28x2=124

x = 360-124-124=112

Incorrectly answered feedback
180-28x2=124

x = 360-124-124=112

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014680
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014680&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014684
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014684&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Question 35   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

15cm

15 cm

15

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,719

Correctly answered feedback
ZXY= 68-14- (3x2) - (5x2) -8 =30

XY = 30cm÷2=15

Incorrectly answered feedback
ZXY= 68-14- (3x2) - (5x2) -8 =30

XY = 30cm÷2=15

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 36   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014719
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014719&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Accepted answers:

70

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,725

Correctly answered feedback
Y = 90- 71 =19

m = 180 - 36 x 2 -19 x 2 =70

Incorrectly answered feedback
Y = 90- 71 =19

m = 180 - 36 x 2 -19 x 2 =70

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 37   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Tasty Cake Shop baked 3404 pies. The pies were packed into 80 large boxes of 25 pies each and the
rest into small boxes of 12 pies each. How many small boxes of 12 pies were there?

Accepted answers:

117

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,731

Correctly answered feedback
First 80 = 80 x25 = 2000

Left small = 3404 - 2000 = 1404

sets = 1404÷12=117

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014725
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014725&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Incorrectly answered feedback
First 80 = 80 x25 = 2000

Left small = 3404 - 2000 = 1404

sets = 1404÷12=117

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 38   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

$192

$ 192

192

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,743

Correctly answered feedback
3/4 = 2/3 = 6/8 = 6/9


17u = $408

1u = 24

D = 24 x8 =192

Incorrectly answered feedback
3/4 = 2/3 = 6/8 = 6/9


17u = $408

1u = 24

D = 24 x8 =192

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 39   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014731
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014731&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014743
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014743&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Accepted answers:

$174.20

$ 174.20

174.20

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,774

Correctly answered feedback
F = 8.60 x 5= 43

P = 7.20 x6 = 43.20

0.2kg = 55÷5=11

C = 55+11x3=88

total 88+43.40+43=174.20

Incorrectly answered feedback
F = 8.60 x 5= 43

P = 7.20 x6 = 43.20

0.2kg = 55÷5=11

C = 55+11x3=88

total 88+43.40+43=174.20

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 40   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

The average age of Andrew's nephew is 10 years old. When Andrew joins them, the average age of
Andrew and his nephews becomes 14 years old. Given Andrew is 30 years old, how many nephews
does he have?

Accepted answers:

4

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: Tue 14th Sep 2021

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014774
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014774&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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QID#: 29,014,783

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 41   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://0cm.classmarker.com/10070943_1VJGY3DU.png
https://0cm.classmarker.com/10070943_1VJGY3DU.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014783
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014783&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Accepted answers:

140

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,790

Correctly answered feedback
90+50=140

Incorrectly answered feedback
90+50=140

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 42   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) 3/17 of the total households have ___ pets each 

Accepted answers:

2

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,794

Correctly answered feedback
3/17 = 120/680

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014790
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014790&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Incorrectly answered feedback
3/17 = 120/680

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 43   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

$70

$ 70

70

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,807

Correctly answered feedback

Incorrectly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014794
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014794&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://0cm.classmarker.com/10070943_SW6LUZ2G.png
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 44   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

i) ACE is
smaller than 60 

A) True 

B) False 

C) Not possible to tell

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,814

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 45   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

ii) AEC is 74

A) True 

B) False 

C) Not possible to tell

https://0cm.classmarker.com/10070943_SW6LUZ2G.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014807
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014807&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014814
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014814&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,818

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 46   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

iii) The sum of DBC and DEV is 208

A) True 

B) False  

C) Not possible to tell

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,834

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 47   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) In the statement below, choose the words that describe triangle DBC correctly 


- Triangle DBC (is / is not) an isosceles triangle because lines DB and BC (are / are not) equal 

Question Type: Essay
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,847

Correctly answered feedback
is not, are not 

Incorrectly answered feedback
is not, are not 

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 48   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014818
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014818&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014834
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014834&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014847
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014847&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Accepted answers:

$1400

$ 1400

1400

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,859

Correctly answered feedback
SS = 4200 ÷ 3 = 1400

Incorrectly answered feedback
SS = 4200 ÷ 3 = 1400

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 49   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) How much did she pay for refrigerator after the 7% GST?

Accepted answers:

$3145.80

$ 3145.80

3145.80

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014859
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014859&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,873

Correctly answered feedback
Discount = 70/100 x 4200 = 2940


GST = 107/100 x 2940/1 = 3145.80

Incorrectly answered feedback
Discount = 70/100 x 4200 = 2940


GST = 107/100 x 2940/1 = 3145.80

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 50   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A sum of money was shared among three brothers Ahmad, Fandy and Halim in the ratio of 3:2:1
respectively. After Ahmad gave $24 to Fandy and $12 to Halim, the ratio of their shares became 2:2:1.


a) How many percent of this sum of money was Halim's share in the end?

Accepted answers:

20%

20 %

20

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,890

Correctly answered feedback
1/5 = 20/100 = 20

Incorrectly answered feedback
1/5 = 20/100 = 20

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 51   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) How much was Ahmad's share at first?

Accepted answers:

$180

$ 180

180

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014873
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014873&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014890
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014890&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,897

Correctly answered feedback
3u = 2u +12=36

1u = 36÷3=12

15x12=180

Incorrectly answered feedback
3u = 2u +12=36

1u = 36÷3=12

15x12=180

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 52   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

$1185

$ 1185

1185

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: Tue 14th Sep 2021
QID#: 29,014,907

Correctly answered feedback

Incorrectly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014897
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014897&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 53   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) How much did Samantha save?

Accepted answers:

$497

$ 497

497

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,916

Correctly answered feedback
T = 79x3=237

1185x237-451=497

Incorrectly answered feedback
T = 79x3=237

1185x237-451=497

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 54   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014907
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014907&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014916
https://www.classmarker.com/a/tests/qb/manage/?test_id=1815083&question_id=29014916&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1815083
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Accepted answers:

12

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,919

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 55   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

b) Which figure used 54 chairs?

Accepted answers:

25

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,922

Correctly answered feedback
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 56   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

c) Each table measures 2m by 1.2m. What is the perimeter fo the row of table used in figure 12?

Accepted answers:

32.8m

32.8 m

32.8

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,931

Correctly answered feedback
12T= (2mx2) +(1.2mx24)

= 4m + 28.8m = 32.8

Incorrectly answered feedback
12T= (2mx2) +(1.2mx24)

= 4m + 28.8m = 32.8

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 57   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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Accepted answers:

1.22l

1.22 l

1.22

Question Type: Free Text
Date Added: Tue 14th Sep 2021
Last Modified: N/A
QID#: 29,014,951

Correctly answered feedback
Vol now = 2/5 x28 x 10 x35 = 3920cm3

Height till over flow = 28x10x15=4200

Vol of cups = 250cm3 x6 =1500cm3

Vol when cup added = 3920cm3 + 1500cm3 = 5420cm3

Collected = 5420cm3 - 4200cm3= 1220cm3=1.22l

Incorrectly answered feedback
Vol now = 2/5 x28 x 10 x35 = 3920cm3

Height till over flow = 28x10x15=4200

Vol of cups = 250cm3 x6 =1500cm3

Vol when cup added = 3920cm3 + 1500cm3 = 5420cm3

Collected = 5420cm3 - 4200cm3= 1220cm3=1.22l

 Answers
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